Math 1210: Worksheet #6 < Og,o " Fall 2017

Section: %H

Name: _ A

(6] 1. Consider a right-angled triangle with catheti (adjacent sides) = and y and hypothenuse
(opposite side) z. When z = 6 and Y = 8 we have that r is growing at the rate of 2em/s
and the angle # between z and z is growing at the rate of srad/s, (the right angle

between z and v is fixed throughout the process). What is the rate of change of z at that

point? For 2 bonus marks determine the rate of change of y at that point.
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[3] 2. Let x and y be functions of ¢ related by 22 + 3 = *y+7 Whenz =1and y = 2 we
have that mlw = 11. Find the value of mm at that point.
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